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1. Define taxation and market failures
2. Context – obesity crisis in UK, sugar tax
3. Route through essay – tax could work, but role of market and also other options (subsidies, banning advertising for children etc.)

MAIN BODY
Point 1: Remove intervention to allow the market to operate more freely is the most effective Government Policy
· As – Market Success Arguments: Consumers have good info (especially with the growth of internet etc) and are will change their habits away from unhealthy food and drink as they understand more the long term costs of consumption (so demand curve shifts to the left).  Substitute of healthier eating then takes place (demand curve to the right) and price mechanism shifts resources from being used for unhealthy to healthy foods.  See Jamie Oliver and others for impact private sector can have.  Also any Government policy is ‘nannying’; who are the Government to affect lifestyles?
· Ae – Market Failure Arguments: This will arguably take too long and is guaranteed as unhealthy food is a demerit good (MPB is greater than MSB) and the substitute of healthy foods is a merit good (MPB less than MSB)

Point 2: Imposing a tax is the most effective government policy
· As – Government Intervention: Sugar tax?  Indirect tax shifts the MPC to the left, thus reaching optimal consumption of unhealthy food. Also raises revenue to help fund education and healthcare for those suffering from negative externalities.  
· Ae – Government Failure: Problems with a tax - How much should it be without causing unemployment in this industry; not guaranteed that Government has perfect information.  Tax could lead to inequality as lower socio-economic groups more likely to spend higher proportion of income on unhealthy foods (quick, easy, substitutes too expensive).  Obesity not just caused by sugar?  Elasticity of demand might affect the decrease?

Point 3: Alternative policy of subsidising healthy alternatives?
· As – Government Intervention: MPC curve shifts to the right and increases production of healthier foods which lowers prices and ensures greater consumption; makes it affordable for lower income groups.  
· Ae – Government Failure: Opportunity cost to Government (deficit and national debt).  How do they decide what is healthy?  Moral hazard to firms leads to overreliance and inefficiency?  Elasticity of demand might affect the increase?

CONCLUSION
1. State a position – is a tax the most effective government policy?
2. Support that position by picking the arguments above which carry more weight and explain why 
3. Defend that position – what are the weak arguments here? Why do they not carry that much weight?

EXAM  BOARD ADVICE
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1. Define balance of payments and current account
2. Context – UK current account prolonged deficit and why important to macroeconomy?
3. Route through essay – demand (expenditure reducing and switching) and supply side solutions (productivity)


MAIN BODY
Point 1: Expenditure Reducing (Deflation) – Short Term (demand side)
· As: Raising interest rates and running a budget surplus (austerity) means less import buying
· Ae: Immediate unemployment and poverty issues potentially?  UK growth at lowest this last quarter and inflation dropping.

Point 2: Expenditure Switching (Devaluation and Direct Controls) – Short Term (demand side)
· As: Devaluation (through lowering interest rates or selling pound) and Protectionism (Tariffs and Subsidies etc.)
· Ae: Devaluation (J-curve effect because elasticities are lower in the SR than the LR.  Also liquidity trap and BofE independent) and Protectionism (Tariff diagram and subsidies issues – crowding out etc).

Point 3: Supply Side Policies to improve competitiveness (supply side)
· As: LRAS shifts to the right and creates lower prices = UK exports become cheaper and this causes BofP to reduce
· Ae: Long time to come to fruition, no guarantee that this will lead to great exports (Inelastic demand?).  Opportunity cost to Government of supply side policies?

CONCLUSION
1. State a position – position could be ‘the best policy’ or a ‘combination’…it’s pretty open as long as you link it to the UK’s balance of payments
2. Support that position by picking the arguments above which carry more weight and explain why 
3. Defend that position – what are the weak arguments here? Why do they not carry that much weight?
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Evaluate the measures that might be taken to reduce a deficit on the current account of the
UK’s balance of payments.
[25 marks]
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Areas for discussion include:

definitions/explanations: the balance of payments, the current account, current account
deficit
explaining the difference between a surplus or deficit on current account
explaining the composition of the current account of the balance of payments
explaining the historical experience of the UK’s current account
explaining the causes of deficits
explain possible measures to reduce the deficit such as:
exchange rate manipulation
changes in interest rates potentially affecting the exchange rate
expenditure-reducing policies
expenditure-switching policies
the role of protectionism
government role in export promotionftrade deals
the role of fiscal and mohetary policy
supply-side improvements which might begin to provide a solution to the
weakness, such as:

= competitiveness/unit labour costs

= investment (human and physical capital)

= technology, R&D and productivity

= infrastructure
consideration of the UK’'s membership of the WTO and EU restricting its ability to use
protectionism
consideration of whether the deficit is a problem if the capital account is in surplus
consideration of the impact on other macroeconomic goals of trying to reduce the deficit
on the current account of the balance of payments.

The use of relevant diagrams such as AD/AS diagrams to support the analysis should be taken
into account when assessing the quality of the student’s response to the question.
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Below is the levels of response marking grid 1o be used when marking any 25 mark questions.

Lovel of Max
response Response 25 marks
‘Sound, focused analysis and well-supported evaluation that:
+ iswel rganised, showing sound knowledge and understanding of
econarric terminclogy, concepts and principles with fow, 1 ary, 2125
ermors el
5 + includes good appliation of relevant economic principles t the
given context and, where appropriate, good use of data to support
the response
+ includes welkfocused analysis with clear, logical chains of reasoning
+ includes supported evaluation throughos the response and In 2
final conclusion
Sound, focused analysis and some supported evaluation that:
+iswel rganised, showing sound knowledge and understanding of
economic terminology, concepts and principles with few, I any, 16-20
ermors marks
A + includes some good application of relevant econaric principks to
the given context and, where appropriate, some good use of data to
Supportthe response
+ includes some welkfocused analysis with clear, ogical chains of
reasoning
+_includes some ressonahle, supported evaluation
‘Some reasonable analysis but generally unsupported evaluation that:
= focuses on issues that are relevant to the question, showing
satisfactory knowlede and understanding of econorric terminology,
concepts and principles but some weaknesses may be present 1115
+ includes reassnable application o relevant economic principlesto | marks
3 the given context and, where appropriate, some use of dafa to
Support the response
+ includes some feasonable analysis but which right not be
adequately developed or becomes confused in places
+ includes faitly superfcial evaluation there is ikely o be sorme
attempt to make relevart judgements but these aren't well-
supported by arguments andior data
A fairly weak response with some understanding that:
= includes some imited knowledge and understanding of econormic
terrinology, concepts and principles is shown but sorre errors are | 610
ikely marks
2 + includes some imited application of relevant ecorormic principles to
the given context andior data o the qusstion
+ includes some imited analysis but  may lack focus and/or becorme
confused
+_includes some evaluation which is weak and unsupported
A very weak response that s
+ includes Iiile relevani knowledge and understanding of econormic | b
1 terrinclogy, concepts and principles

+ includes applcation to the given context which is, at hest, very weak
+_includes atternpted analysis which is weak and unsupported
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Question 14

Here students needed to evaluats the view that imposing a tax was the most effective govemment
policy for reducing the rarket failures arising from ov erconsumption of unhealthy food and drink
Most students found this to be a very straightforward question, and it was not surprising that it
elicited the highest mean rmark of all of the aher 25 rmark ouestions, It had by far the highest
percentage of level 5 responses, 23% of students achieved a level & mark, cornpared with the
lowest percertage of 13% for the poverty question. Students produced some excellent responses.

A typical approach was o discuss the effectiveness of the imposition of a tax and at least one
other policy. Many studerts were able to include relevant diagrams and successfuly integrate
them into their answers to develop their analysis further. Good responsss wers definitsly further
enriched by behavioural theory, which was alluded 1o n the 'sterr 1o the question, in acdfion to
tradiional theory. It was pleasing to see that so many studerts had embraced this new area of the
speciication, and that they were able to use t appropriately. Students made use of the relevant
behavioural economic terminology, and oflen developed a few of the numerous real world
exarmples. The combination of theoretical analysis and context helped mary students to
demonsirate good supported evaluation in their responses.
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Question 12

Here students performed the best of all the essay questions. Most studerts were awarded a level 4
answer or above and were accuratel able to give either sutable expendiure reduting,
expendiure switching or suppy-side possiilties to reduce the trade deficit Most students
accurately used diagrams and fully analysed the issues. One issus that was detectsd was that
some students, when describing depresiation of currency was that some students do not
undsrstand how this can be done other than through interest rate manipulation. Often, students
(correctly) identifid the factthat lawer irterest rates could cause depreciation, however they faled
to consider the full impacts of an interest rate fall on ¢ onsurnption and the possitilty that imports
may fise. Sironger students considered the UK's position within the EU and the possiilty that
protectionism may be used in the future. Sadly,  very small minority of students sill do not
Undsrstand the diference between the balance of payments and the budget defict which led to
some very confused responses.
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Evaluate the view that imposing a tax is the most effective government policy for reducing
the market failures arising from overconsumption of unhealthy food and drink.
[25 marks]
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Areas for discussion include:

the existence of market failure

explanation of how taxes reduce consumption

distinction between specific and ad valorem tax

the argument that if demand is inelastic, this will result in larger tax revenues which can be put

towards public health spending to the same effect

o the extent to which the burden of the sugar tax will be passed on to consumers rather than
hitting profits of producers

o the likely extent to which producers change their recipes to avoid the tax

o the fact that the tax only applies to some sugary drinks, and not others (eg milk-based or fruit-
based drinks), and does not apply to sugary foods such as chocolate bars

* unintended consequences (positive and negative) which have emerged (or could emerge) from
the policy

e alternative policies such as a minjmum price per litre, a rationing of quantity, a ban in school
vending machines, quantitative limits on the sugar added to drinks in the production process,
subsidy for healthier alternatives

e policies to increase uptake of healthier alternatives such as water or milk including information
campaigns, subsidies, free school milk, etc

o whether more prominent labelling (perhaps using a “teaspoon of sugar” measure) is more or
less effective

e whether consumer drinks choice is an appropriate area of interference by the Government, or
alternatively evidence of the “nanny state”

o whether insights from behavioural economics offer possible solutions, eg nudge economics,
social norms

e government failure arguments

The use of relevant diagrams to support the analysis should be taken into account when assessing
the quality of the candidate’s response to the question.




